EARAROBREBRT —5 XN—ZXBISH—F

202358198 (&) 2@IIE58

U o SF— C2H)\

\(9&1&1 = ‘I%EH?’JFQ] | & 100 =

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
W = RESR 132, -1-1- . - LIEHEE (i)
1 7| FYNPF i 5 i 1(3_2)1 1-1-1-1 | 40.0 4 (4;12(; LS
RYURI4 TSR B:U/IHhF BEHUS
= HEER : -2-1- - S (111E)
217l 8| PAF4PURS 5 T 1(73%:; 1-2-1-2 | 40.0 1 (5_263) R
RiIUZIAVYINT N B:F47S5hDvay /=Y Tr—1I
— <,y = E=L) : -4-5- - WiEExE (&
3055 | PYZ=NILRDO "SRR 1'(343)‘0 s 40 6 (4:;5(; :t#?%é v
R:F4=FTUVSVF BPIZVIRAL SRS
3y 6 | LS 1:33.2 4-5-7-4 | 40.7 | - 7 | 463 |REBEB (IIE)
41101 |¥3oNU 56.0 (3/4) 7 |JABEXR :
RIVZRAI—ZZRI— BFIPIIFV RHRBUS
& 1e gy o - chigF : -8-8- - JUREZ (11iE)
5 5 | N—RARTODY i 5 s 1(.13/32.)3 8-8-8-8 | 40.3 10 (4323) et
RIR—ANR B/ YT —/EY BRI
° » s 5 | HBES 1:33.7 7-7-4-6 | 40.9| — 2 464 | MBEZ (111E)
618l10| FOEAURE #53.0 @ (g | EARIEL
RIFUBARIVR B:HYTYNERR AEHRIS
st 5 | BARE 1:33.8 6-6-6-7 | 41.2| — 5 470 | LLIEHAE (1)
7 6| U—T 54.0 (/4) o eret i
RE-UR BUPSAXIUT NE #REg
S5t . —0—0! = INRIRES CGRiFD)
8 4| ZTUY IR 59 A 1(.332.)0 9-9-9-9 | 40.6 8 (5_021) PR
RIRNAF1—I B:A RN I\ B
— o6 | WEHES 1:34.1 3-3-3-4 |41.8| — 3 515 | R (1018)
9/8/11|Y2v/0O 5.0 ) i) |EBE—
RiNZ—ka1—R BIUF1—RTRA =0l L4
S~ " 6 | HEEE 1:38.8  |10-10-10-10|44.6 | — | 9 | 479 |LUEHER (llE)
10K 3 | Y VFVITRT Y b " *52.0 (545 (3) | ATIESE
RiIv Ry s B:ROTRy—)L REORS
. 45 | EHOLE - - - - - — | BFE (B
7] 9| 7L 5.0 () EY
Ri/RKIvwvT B:IAALI21TU— ik =]
@ 1—F—&RIEL
13—7— (7.,8),11,(1,5),6,10,2,4,3
230—F— 7,8,11,5,1,6,10,2,4,3
Ja=zr= (7,8),11,10,5,6,1,2,4,3
43—F— 7.8,5,(1,11),10,6,2,4,3
0 ILRE
BB 7 1,5104 JA R 7-8 220/ e B 6-7 350/ 3EE 5-7-8 2,170M
B B 7 170/ 5-7 1,190 (=1 6-7 2,800 3EH 7-8-5 31,130
8 1109 5-8 390 5 & 7-8 440/
5 2504 =51 7-8 3,030

ABIC OV TRUTEREERRODDZE. THRIIZEL.




